Chapter 11   Coastal Hazards

1) Why are East Coast beaches wider and sandier in general than West Coast beaches?

A) The East Coast is nearer to a convergent boundary

B) The East Coast is nearer to a subduction zone

C) The East Coast is not near a convergent plate boundary

D) The East Coast is nearer to a deeper ocean

E) The East Coast has more rocks to erode

2) Which of the following statements is true about coastlines?

A) Coastlines are the place where the continental crust meets the ocean crust

B) Coastlines are constantly changing in shape and length

C) Coastlines are at the boundaries of different plates

D) Coastline shape and length always stays the same

E) Coastlines are always wide and sandy

3) Which of the following is not a coastal hazard?

A) Coastline erosion

B) Strong coastal currents

C) Storm surge

D) Tsunamis

E) Earthquakes

4) The size of waves depends on which of the following?

A) Length of time the wind blows

B) Wind speed

C) Fetch

D) Distance the wind blows over surface

E) All of the above affect wave size

5) If you were watching waves from the shore and started counting the seconds between one crest to the next, what would you be measuring?

A) Wave height

B) Wavelength

C) Wave period

D) Wave energy

E) Wave speed

6) Which of the following would be the best way to measure the wavelength of a set of waves at the beach?

A) Hold a meterstick in the water and measure how high the wave goes on the stick

B) Count the number of waves that pass by in a minute

C) Using a stopwatch, time the waves as the crests move by

D) Take a picture of the waves with a camera and measure the distance between the crests with a ruler

E) Using a scale, measure the pressure of the largest wave

7) What characteristic of waves increases as they hit the coastline?

A) Wave height

B) Wavelength

C) Wave period

D) Wave energy

E) Wave speed

8) If you placed a small boat in waves in the open ocean (not near the shoreline) what would the motion of the boat be?

A) Up and down slowly moving towards shoreline

B) Up and down slowing moving out to sea

C) Circular pattern staying mostly in the same place

D) Circular pattern slowly moving towards the shoreline

E) Circular pattern slowing moving out to sea

9) At what depth do waves begin to slow down and "feel bottom"?

A) At depth equal to twice the wavelength

B) At depth equal to one wavelength

C) At depth equal to ½ wavelength

D) At depth equal to ¼ wavelength

E) Never. Waves don't slow down.

10) What are swells?

A) Wave troughs

B) Wave crests

C) Waves that are different from other waves

D) Waves generated by storms

E) Waves in summer water

11) Which of the following statements is true about waves?

A) Waves break because they rise too high in shallow water

B) Waves diminish greatly in size as they move across the ocean

C) Waves are mostly random and cannot be predicted

D) Wavelength increases when the wave hits the shoreline

E) Waves speed up when they hit the coastline

12) What happens to waves when they reach the headlands of an irregular coastline?

A) They converge

B) They expend energy

C) Their wave heights increase

D) They erode the headlands

E) All of the above happen to waves at the headlands

13) Which of the following is true about breaking waves?

A) Plunging waves are more typical on wide, sandy beaches

B) Plunging waves are more typical on steep beaches

C) Plunging waves are more likely to deposit sediment

D) Plunging waves are more likely to be seen on wide east coast beaches

E) Plunging waves are gentle with very little force

14) Which type of wave would you expect to see on a barrier island on the East Coast of the United States?

A) Plunging Breaker

B) Spilling Breaker

C) Tidal Wave

D) Sonic Wave

E) All of the above

15) Which type of wave would you expect to see near the cliffs on the West Coast of the United States?

A) Plunging Breaker

B) Spilling Breaker

C) Tidal Wave

D) Sonic Wave

E) All of the above 

16) Where does beach sand primarily come from?

A) Deposited by rivers from continental crust

B) Deposited by volcanic eruption

C) Deposited by ocean from rocks, shells and other materials near the shoreline

D) Deposited by glaciers at the end of the last ice age

E) It was there when the Earth formed

17) What is the swash zone?

A) The swash zone is where waves break

B) The swash zone between the surf zone and the breaker zone

C) The swash zone is where the waves slow down

D) The swash zone is the nearest off-shore zone to the beach

E) The swash zone where the highest tides reach

18) Water moving parallel to the shore is called ________.

A) Beach drift

B) Longshore drift

C) Longshore current

D) Rip current

E) Sand drift

19) What is the difference between Eustatic and Relative sea level?

A) Eustatic refers to the global sea level; Relative refers to local sea level near land

B) Eustatic refers to global sea level; Relative refers to sea levels with respect to mid-ocean ridges

C) Eustatic refers to sea levels that don't change; Relative refers to local sea level

D) Eustatic refers to sea levels that are advantageous for shipping; Relative sea level refers to high and low tides

E) There is no difference between them

20) What could cause the Eustatic Sea Level to change?

A) Tides

B) Heavy storms

C) Drought on land

D) Global Warming

E) Earthquakes

21) Which of the following coastlines are at risk from Coastal Hazards?

A) The Florida coastlines on the Atlantic Ocean

B) The Michigan coastlines on Lake Huron

C) The Oregon coastlines on the Pacific Ocean

D) The Louisiana coastlines on the Gulf of Mexico

E) All of the above are at risk of some coastal hazard

22) The Louisiana coastline on the Gulf of Mexico is probably more vulnerable to coastal hazards than a coastline in northern California. Which statement best explains why this is?

A) The Louisiana coastline is subsiding

B) The water in the Gulf is warmer

C) The currents in the Gulf are stronger

D) The recent oil spill made Louisiana more vulnerable to waves

E) The climate is warmer in Louisiana

23) How would you spot a rip-current from the shore?

A) You could look for an area where waves are moving towards the shore

B) You could look for an area where waves are moving quickly away from shore

C) You could look for an area of calm surrounded by breaking waves

D) You could look for an area of intense breaking waves

E) Rip currents are not visible from the shore

24) What kind of seascape would you expect to be mostly eroding?

A) Ocean shores with wide beaches

B) Lake shores with gently sloping beaches

C) Lake shores with steep bluffs

D) Ocean shores with gently sloping beaches

E) Ocean shores with wide berms

25) What is the MOST likely cause of beach erosion on wide beaches?

A) Gulf Stream currents

B) Rip Currents

C) Longshore Currents

D) Jet Stream Currents

E) Washing Currents

26) Which of the following statements about cliff erosion is not true?

A) Cliffs erode because of wave action on the shoreline

B) Adding homes to cliffs will increase the amount of weight and increase erosion

C) Building roads on cliffs doesn't increases surface runoff which increases erosion

D) Cliffs, because of the strong rocks that compose them, rarely change

E) All of the above are true about cliff erosion

27) Which of the following cause coastal erosion?

A) Earthquakes

B) Tsunamis

C) Storm surge

D) Landslides

E) All of the above cause coastal erosion.

28) Which of the following human interactions do not increase coastal erosion?

A) Removal of sand dunes

B) Petroleum pumping

C) Jetty construction

D) Wetland draining

E) Recreation such as swimming

29) What is the effect of leveling the sand dunes on a barrier island?

A) It makes them more vulnerable to storms

B) It puts more sand on the beach increasing the size of the beach

C) It puts less sand on the beach decreasing the size of the beach

D) It makes more room for housing which increases erosion

E) It makes the island less heavy, causing it to rise

30) What does the erosion of the coastlines on the Great Lakes depend on?

A) Existence of sand dunes

B) Orientation of the coastline to storm waves

C) Groundwater seepage at the base of the bluff

D) Engineering of the coast with protective structures

E) All of the above affect the erosion of bluffs

31) Which of the following is a form of soft stabilization?

A) Jetties

B) Breakwaters

C) Seawalls

D) Beach nourishment

E) Groins

32) Which of the following hard stabilizations is built in an effort to protect boats in the harbor?

A) Jetties

B) Breakwaters

C) Seawalls

D) Beach nourishment

E) Groins

33) Which of the following hard stabilizations are built parallel to shore to protect cliffs or bluffs?

A) Jetties

B) Breakwaters

C) Seawalls

D) Beach nourishment

E) Groins

34) Why are groins not a perfect solution for saving beaches from eroding?

A) They increase erosion in the downdrift area

B) They trap longshore drift

C) They increase amount of sand on one side of the groin

D) They are difficult to build

E) They are difficult to position on the beach

35) Which of the following is not a drawback to using beach nourishment? 

A) It is difficult to transport the large amounts of sand necessary

B) It is expensive to transport the large amounts of sand necessary

C) The sand used for beach nourishment must be chosen carefully to determine if it will fit the ecology of the beach

D) The replenished sand will eventually erode again

E) It is more aesthetically pleasing than other solutions

36) What is the "Managed Retreat Solution"?

A) Adding sand to locations that need sand

B) Adding more jetties and breakwaters

C) Rethinking land uses and developing less of the coastal zone

D) Adding more hard stabilizations to the beach

E) Using more soft stabilizations to save beach

